H & 0l & AHS B Ml A

S AL
M NS S2HA BE
Rl 22t A EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
rafain; 33,635,984 38,594,846 A4,958,862
= 4,043,000
[ 159,000
Il 646,000
< 3,675,344
= 25,112,640
ordst T2 =S 11,700,452 11,707,3% 26,944
= 1,000,000
Il 646,000
== 210,259
o 9,844,193
C2ael e 2,372,472 2,602,696 A230,224
[ 33,859
T 2,338,613
e s 2el 258,000 407,800 149,800
201 er2 3| 15,000 15,000 0
01 At2t2lt] 10,000 10,000 0
OZY+2t MEXY HH| Sxi= 10,000
02 S3=4gHl 5,000 5,000 0
OWED| X 2Ae/H(HI], &2, B=) 5,000
206 M=H| 135,000 235,000 100,000
01 M=4l 135,000 235,000 100,000
ON&E gatzs & 43 7 100,000
ON&Dl & 425 7Y 30,000
ORcH==0Ll e 200 *25,0000H 5,000
302 O|=H Mol 2ai= 86,000 86,000
2 Lol =1e8s2d= 86,000 86,000
OM&Xg el S 86,000
307 @120l & 22,000 22,000
06 28= 22,000 22,000
ON&XAX 280t 22,000
Ay et 5,000 2,500 2,500
202 04| 2,500 0 2,500
01 2LHoIH 2,500 0 2,500
OAHEdy gRFaA 2,500
203 HR=H| 2,500 2,500
03 A= PR FAI| 2,500 2,500
OAHEHE AT 2,500
SRS 2E 1,084,360 974,260 110,100
101 21AH| 158,000 140,000 18,000
04 JIZtN2Z2XNSE+ 158,000 140,000 18,000
28 MEHY 158,000
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S AL
M NS S2HA BE
Rl 22t A EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
201 er23 | 112,360 122,360 10,000
01 At2teltl 25,760 25,760 0
OT2HH 22 7Y 10,000
OzzE4+a a2zt 8, 00021482 802 5,120
o248 xei= 7ol
150, 0002 62 1,200
OE2E48 xeig 7ol
150, 0002 +8% 1,200
OS2 Zoi= ol
300,000+ 600
OEz2XA =eis Pl
300,000& x2&H 600
ONExY S 7,040
2 35234l 86,600 96,600 10,000
OBZES, =4 RAl&c 40,000
Oul=J| =XAl2tell 3,000
OossxtE 7l 300,000&* 12042 3,600
OE2E+ FX2clH| 20,000
ONM&EI & &X)| FXl2e| 5,000
OXIEAAN sX2el 15,000
206 M=l 8,000 15,500 AT7,500
01 M=4l 8,000 15,500 AT7,500
OEZARRIFE M8+
10,0002 *300m’ 3,000
OS283=78 0jA2 7Y
20,0002 2505 5,000
401 AlZHIZ S 0HbI 806,000 520,000 286,000
01 Al&H| 806,000 520,000 286,000
OkzY¥ N=&Y 106,000
OY=0E ¢ 50,000
OEZ2 X& =5 MAHHY 50,000
OE2WE H8AIZ= &Hl & 2+ 100,000
Oz =M & AnZetMAIE FH 500,000
—JIEdIE S ATAIE 200,000
—CE2XEEM 200,000
—EEXE & E22Es 100,000
=37 2 59,000 58,000 1,000
201 Ler23| 9,000 8,000 1,000
01 At2teltl 9,000 8,000 1,000
O=g & SJI=+2 S 9,000
401 AIEHIX R0 50,000 50,000
01 A28l 50,000 50,000
OBIEEEZ M=l DIZSEX HE 50,000
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SA AL
B OIMEt TR &S
chelr E2ae] e EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
SH JI2S NJAZ 908,760 573,920 334,840
= 30,000
= 878,760
201 er2 3| 60,760 34,920 25,840
01 AtR2te|Hl 9,760 3,920 5,840
OIHBE 7 1,000
OIS Paole Aol gl
250,000 x23/ 3% 1,500
OJI2S Pa0le Hels 7Y
250, 00021 %25] %32 1,500
OJlRE Baols 2|
8,0003x3& »240! 5,760
02 S3=gHl 51,000 31,000 20,000
Od3&xg dJIRs S 16,000
OZ&xg K2l 5,000
OJzs RAl2el 20,000
OZsitg FAl2cl 10,000
206 M=l 200,000 200,000
01 M=4l 200,000 200,000
OJ2E RAE ABF F(l0g8E, o+
&) 200,000
401 Al HIZL S 0HYI 648,000 338,000 310,000
= 30,000
= 618,000
01 Al&HI 645,000 335,000 310,000
Ok= Jt2 (_‘?‘_P_F)% ZHIAFE (2 F) 200,000
OLED JtZ2S AEAH 400,000
o™= HIl= Hel 15,000
OHEXIE &AL EHS2II2S EHIA 30,000
< 30,000
03 AlE S THYI 3,000 3,000 0
OIIZS ALSA A2 RES 3,000
CR2NSHE 2H(EX) 7,352 7,216 136
& 3,859
= 3,493
101 @124H| 7,352 7,216 136
= 3,859
o 3,493
MU IIRINZZENSES 7,352 7,216 136
OZT WSY XA 2IRY
91,9002 +80H 7,352
=S 3,859
s 3,493
=212 XNEA 50,000 59,000 29,000
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SA: AT
M NS S2HA BE
&l 28 HH EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 Al&HI 196,000 285,000 89,000
OgdaclAE=s ardEd 196,000
= 26,400
o 169,600
FIEEE 8 2,000,000 1,300,000 700,000
= 1,000,000
s 1,000,000
401 AIEHIZ SR OHYI 2,000,000 1,300,000 700,000
= 1,000,000
[Ea 1,000,000
01 Al&HI 1,996,400 1,290,640 705,760
O2g~&d22 g2 dENEA 1,396,400
= 700,000
= 696,400
O ZXE A2 dEMEAY 600,000
= 300,000
o 300,000
03 Al 20HHI 3,600 9,360 Ab,760
Oyt A8 dEIHEA 3,600
wxtz N (EX)(HEA) 420,000 280,000 140,000
= 150,000
= 270,000
401 Al HIZ 2018 420,000 280,000 140,000
= 150,000
Ea 270,000
01 A28l 420,000 280,000 140,000
OMZ-&MWRE i ALS 120,000
OZ=272d AAEUIZ HEAI 300,000
== 150,000
[Ea 150,000
2 XSstA 2,991,980 2,871,700 120,280
Il 646,000
= 2,345,980
401 AlEHIZ S 0HbI 699,980 531,000 168,980
01 Al&H| 694,780 528,000 166,780
O'2d 2+xs8tl S8 NSstAE (2
el=e 297,840
O224 2gxsSsn s82 XSsAE (2
SE=Y 297,840
O34 =S8 S8 XSsAE (2D
gl=e) 99,100
03 AIZ2THYI 5,200 3,000 2,200
OddZ XsstAg (Oe=E) 5,200
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SA AL
I OINME TR &S
chel: E2EA e EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
403 X SHHMSAH=01H 2,292,000 2,340,700 48,700
Jl 646,000
= 1,646,000
02 SISOt =22 P E A I 2,292,000 2,340,700 A\48,700
O'2d ex5stu S22 ASeAHY 335,000
O'2d 2E8xsstl S22 NS3A 854,000
O34 gaxzSstu SSIZ XSS 1,103,000
Jl 646,000
T 457,000
A|IES ZAIESSH &4 10,798,642 14,979,000 A\4,180,358
[ 159,000
= 2,014,285
o 8,625,357
SADIEAE &F 10,798,642 14,979,000 /4,180,358
= 159,000
S 2,014,285
= 8,625,357
CAH= 2 264,000 367,000 103,000
101 @124H| 6,000 5,000 1,000
M IRINZZ2NSE 6,000 5,000 1,000
OZAHEAE H=HY 22Y
2,000,000 #32] 6,000
201 fer= 3| 62,000 62,000
01 AtR2tc|HI 62,000 62,000
OFAHE & 55245 24 60,000
OogdzH 23 29 2,000
202 0t 6,000 6,000
01 2LHoIH 6,000 6,000
O aieisior XA (| 4,500
O=2EE0 It XA (H| 1,500
405 AtaHE = 190,000 190,000
01 ML ESFISHI 190,000 190,000
ONL A I XI2AIAE FHEX 190,000
N =R ST 1,381,000 1,009,000 372,000
= 159,000
= 1,222,000
401 Al HIZL 201 1,381,000 1,009,000 372,000
= 159,000
o 1,222,000
01 Al&H| 1,381,000 1,000,000 381,000
Og4 NE=E clZad A 1,381,000
= 159,000
o 1,222,000
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2A:

rar=;

M A)IE2 TASSH 24
S DADIEAIE =E (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
LATAIAHEEZ HESA 904,000 804,000 100,000
401 Al HIZL 201 904,000 804,000 100,000
01 Al&HI 900,000 800,000 100,000
OZHEZZ HESA 350,000
OZHEEz RXE= 350,000
OZANEE=Z 0I=SEX Y 180,000
OAtEN Z2elE83 TdSAt 50,000
03 A& S CHYI 4,000 4,000 0
OZAHE =2 HESA =8 4,000
PAZ SAIAEEEMA(PIS)RXIE= 38,000 38,000
201 fer23y| 38,000 38,000
02 S3=gHl 38,000 38,000
Ogaz TAIAEEZN A Bt 22,000
OIS 28 &l =Xl2 16,000
a2 IHEAE ZEAMY 61,000 61,000 0
201 =3 1,000 1,000
2 35244l 1,000 1,000
ONEAN SIFI| HJILa 1,000
307 elztol & 10,000 10,000
05 212t S 10,000 10,000
O A NE ASHH 24 10,000
401 Al HIYL S0 50,000 50,000
01 AlZ2H| 50,000 50,000
O8ABAEHE FAE+AE 50,000
A Dlgtxd 347,642 4,284,000 /3,936,358
< 14,285
= 333,357
307 glztol & 247,642 234,000 13,642
= 14,285
= 233,357
05 212t S 247,642 234,000 13,642
OFAMEXHHE 222AES 200,000
OFAIN OFSHHIOI & XI34H 24| 47,642
s 14,285
s 33,357
401 Al HIZL S 0HYI 100,000 4,050,000 A3,950,000
01 Al&HI 100,000 4,060,000 A3,950,000
OSAITHSE XA 100,000
=Y HAIIS SEHAAY 80,000 0 80,000
307 elztol & 80,000 80,000
02 2IZHBYAIHE A 80,000 80,000
O&=g YIS sENMY 243 A& 80,000

_503_




2A:

rar=;

M A)IE2 TASSH 24
S DADIEAIE =E (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
SO SAIHA 243HALY 3,334,000 3,650,000 A316,000
= 2,000,000
= 1,334,000
307 el2to| & 440,000 150,000 290,000
= 264,000
[Ea 176,000
02 QIZtEHAEE X 40,000 0 40,000
OdIIN7 =AY 2RSS 2 A 40,000
s 24,000
s 16,000
05 2ItRIE = 400,000 150,000 250,000
OZAMEXHHE 2AHAES 400,000
S 240,000
= 160,000
401 A& HIX R0 2,894,000 3,500,000 A\606,000
= 1,736,000
o 1,158,000
01 A28l 2,894,000 3,491,000 597,000
OEIH7 =AY 43t 2,894,000
== 1,736,000
o 1,158,000
CATHE QIF AL 2,314,000 4,566,000 2,252,000
401 Al HIZL 201 2,314,000 4,566,000 2,252,000
01 Al&H| 2,314,000 4,550,000 A\2,236,000
O2a=X7 SAINY IEAIY 2,314,000
YAA Otz EXIAY 1,025,000 1,025,000
401 A& HIX R0 1,025,000 1,025,000
01 AlZH| 1,021,400 1,021,400
OYad Ot JHESA 1,021,400
03 AlE S THYI 3,600 0 3,600
O24A Otz HESA 3,600
ga 11 THEE2 WESA 1,050,000 0 1,050,000
401 Al HIZL S 0HYI 1,050,000 1,050,000
01 Al&H| 1,046,300 1,046,300
g S ZHEEZ HESA 1,046,300
03 Al 2 HHI 3,700 0 3,700
Ogd Sa1d ZAHEEZ HESA 3,700
SYAL DA &S 11,026,510 11,831,410 804,900
= 3,043,000
=S 1,450,800
s 6,532,710
SEsE dagtxy 11,026,510 11,831,410 804,900

_504_




SA AL
M SYMA DB =5
ChSl: SoisE ME)|BIEA (el mel)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 3,043,000
=S 1,450,800
s 6,532,710
AF X =elAlE 2= 963,600 934,000 29,600
201 et 3| 43,600 34,000 9,600
01 At22t2l] 40,600 31,000 9,600
O42IAIE THAHOIL HILXIE
660,000& *602] 39,600
OJlgtxd g2Fa 1,000
02 S3=4gHl 3,000 3,000 0
Og=Jl RAE+ 3,000
401 AlZHIZ SO 920,000 900,000 20,000
01 A28l 915,590 895,590 20,000
FelAE(M==Xl, ==&, =X, 2],
42 3) fAES & H 695,590
O=Z&el M=Kl 2RI S dHl 120,000
OIS HEAIS 100,000
03 Al 2 THHI 4,410 4,410 0
OAFX ==elAIZHE+
700,000, 000& *0.63% 4,410
sgss fA2 95,000 95,000
201 2= 20,000 20,000
01 At22telt] 20,000 20,000
O=sg8+ s2dME
125,0003 16094 A 20,000
401 AIEHIZ SO 75,000 75,000
01 Al&H| 75,000 75,000
Osg8% o4 At=22| & Kot+=g
SFRAL 75,000
2TNY AE= HES 1,800,660 1,653,160 147,500
401 Al HIZL R 0HbI 1,800,660 1,653,160 147,500
01 Al&HI 1,794,312 1,647,208 147,104
O3 RAE= 543,652
OzF oISA&(2z2, 293 3) |2l
Bl 200,000
OAg2de 53,160
OSEA3N 517,500
Oy HloimMa 450,000
OXIXIot=2EAL (BER2ZY)EX
15,000,000 *27H 2~ 30,000
03 AIZ 2 THYI 6,348 5,952 3%
OZFHML ANIEE HES
1,763, 160,000& +0.36% 6,348
SEIHEAS 150,000 200,000 /50,000
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SA AL
M SYMA DB =5
ChSl: SoisE ME)|BIEA (el mel)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
402 QI2F X201 & 150,000 200,000 /50,000
01 QI X2 AL E R (KEHITHE) 150,000 200,000 /50,000
OsEMEA 150,000
Sbi+==2 ZHIA 900,000 900,000 0
401 AIZHIX S0 800,000 800,000
01 AlZH| 800,000 800,000
O8ti+==2 HHIAML 800,000
403 AXIEHHSAH=201H 100,000 100,000
02 S 2SOt st = & 2 E A ] 100,000 100,000
OZti+=2 szt 100,000
St THHIE4=I0e 321,250 321,250 0
= 257,000
= 64,250
401 AIZHIZ S0 321,250 321,250 0
= 257,000
Ea 64,250
01 AlZH| 318,937 318,937 0
Oste il ES+=IHe 318,937
= 257,000
s 61,937
03 Al 20HHI 2,313 2,313 0
Ot S0
321,250,000 0.72% 2,313
A2 SEIIBAIE EHIAIE 40,000 145,000 A105,000
= 40,000
401 A2 HIRL 201 40,000 145,000 105,000
< 40,000
01 AlZH| 40,000 145,000 105,000
O+ SH0tE == EHl At 20,000
s 20,000
O+ SS0t2 =2 FHIAIE 20,000
= 20,000
g2I|gt FHEHIAY 30,000 30,000 0
401 AlZHIZ SO 30,000 30,000
01 Al&H| 30,000 30,000
OgJlegt RAl2el 30,000
NE=222HL(HEALD) 1,000,000 1,000,000
401 Al HIZ S 0HbI 1,000,000 1,000,000
01 AlZ8| 993,700 993,700
OXES=SLMLAIS (HE) 993,700
03 Al 20HHI 6,300 6,300 0
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SA AL
M SYMA DB =5
ChSl: SoisE ME)|BIEA (el mel)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OXES2UML AL (&)
1,000,000,000& *0.63% 6,300
IIAHSHEEZE SLIAI (M EAL) 428,000 428,000
401 AIEHIX R0 428,000 428,000
01 A28l 424,918 424,918
OJIAHSEHZ LA 424,918
03 Al 20HHI 3,082 3,082 0
OJIHEBRZ HLIAY
428,000,000 %0.72% 3,082
ANZ=s=el Al E (R EALY) 1,100,000 1,350,000 A.250,000
= 880,000
[Ea 220,000
401 A& HIX R0 1,100,000 1,350,000 250,000
= 880,000
o 220,000
01 A28l 1,096,040 1,345,140 A\249,100
OAlZs=clAIE2IHE 5= AL 1,096,040
== 880,000
o 216,040
03 Al 20HHI 3,960 4,860 2900
OAlZ==elAIEE=ALY =& 3,960
B==JH & AL 1,884,000 2,000,000 A116,000
= 1,884,000
401 A2 HIRL 201 1,884,000 2,000,000 A116,000
= 1,884,000
01 A28l 1,877,217 1,992,800 115,583
OWUEXIF bH==HE A 1,877,217
= 1,877,217
03 A2 THYI 6,783 7,200 N4TT7
OUEX T B A =&
1,884,000,000& *0. 36% 6,783
= 6,783
Mol I M +=Xl EBIA 1,804,000 2,514,000 A710,000
= 902,000
< 360,800
s 541,200
401 AlZHIZ S0 1,804,000 2,514,000 A710,000
= 902,000
== 360,800
[Ea 541,200
01 Al&H| 1,797,505 2,504,949 AT707,444
OMHAS ==X HHIAS 1,797,505
= 902,000
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S AL
M SYMA DB =5
ChSl: SoisE ME)|BIEA (el mel)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 360,800
s 534,705
03 Al 2 0HHI 6,495 9,051 A2,556
OMoiIg ==Xl HUIAIYE F&
1,804,000,000& *0. 36% 6,495
s FHAEXG AE 3 WA 60,000 60,000 0
== 30,000
o 30,000
401 A2 HIZL 201 60,000 60,000 0
< 30,000
= 30,000
01 Al&H| 60,000 60,000 0
Ot HAXNS MY S HEAH 60,000
= 30,000
= 30,000
SYSM==X oA 450,000 0 450,000
=S 140,000
s 310,000
401 Al HIZ S 0HHI 450,000 0 450,000
== 140,000
[Ea 310,000
01 Al&H| 450,000 0 450,000
OsHEM==XI Ml At 450,000
& 140,000
= 310,000
25 2254 9,000 3,000 6.000
4o & o= P SSAFAY 9,000 3,000 6,000
345 NEAMS 9,000 3,000 6,000
201 =3 3,000 3,000 0
01 At22t2lt] 3,000 3,000 0
OEATY S 3,000
202 04l 3,000 0 3,000
01 2LHoIH 3,000 0 3,000
Os&sd= A& 3,000
405 KHoHF S| 3,000 0 3,000
01 ML ESFSHI 3,000 0 3,000
OEASE =8 258 U (E=S ) 3,000
HY2AAH (AL 61,380 49,040 12,340
Jl=3H| 61,380 49,040 12,340
240 D=3 61,380 49,040 12,340
201 er23| 27,000 25,920 1,080
01 At2teltl 27,000 25,920 1,080
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